Name
  Date
  Class



Percents
Practice B: Simple Interest

Find the missing value.


1.
principal ( $125
2.
principal ( ?



rate ( 4%

rate ( 5%



time ( 2 years

time ( 4 years



interest ( ?

interest ( $90


3.
principal ( $150
4.
principal ( $200



rate ( 6%

rate ( ?%



time ( ? years

time ( 3 years



interest ( $54

interest ( $30


5.
principal ( $550
6.
principal ( ?



rate ( ?%

rate ( 3
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4

%



time ( 3 years

time ( 2 years



interest ( $57.75

interest ( $63.05


7.
Kwang deposits money in an account that earns 5% simple interest. He earned $546 in interest 2 years later. How much did he deposit?
_________________

8.
Simon opened a certificate of deposit with the money 
from his bonus check. The bank offered 4.5% interest for 
3 years of deposit. Simon calculated that he would earn 
$87.75 interest in that time. How much did Simon deposit 
to open the account?
_________________

9.
Douglas borrowed $1000 from Patricia. He agreed to 
repay her $1150 after 3 years. What was the interest 
rate of the loan?
_________________

10.
What is the interest paid for a loan of $800 at 5% annual 
interest for 9 months?
_________________
Answers for Lesson 6
Practice A


1.
I ( 100 • 0.04 • 2


2.
r ( 
[image: image2.wmf]9

150•2



3.
t ( 
[image: image3.wmf]10

200•0.05



4.
P ( 
[image: image4.wmf]30

4•0.03



5.
Interest due is $90; amount to be repaid is $590.


6.
$80

7.
$36


8.
5%

9.
5 years


10.
$675

11.
$84


12.
6%

13.
5 years

Practice B


1.
$10
2.
$450


3.
6 years
4.
5%


5.
3.5%
6.
$970


7.
$5460
8.
$650


9.
5%
10.
$30

Practice C


1.
interest: $41.40; repay: $386.40


2.
interest: $109.48; repay: $891.48


3.
interest: $1071.88; repay: $7196.88


4.
interest: $1604.69; repay: $11,479.69


5.
interest: $397.51; repay: $2462.51


6.
interest: $294.77; repay: $2044.77


7.
interest: $24.75; repay: $924.75


8.
interest: $126.26; repay: $8543.26


9.
$1821.25
10.
9.5%


11.
4 years
12.
$6591


13.
$6550

Review for Mastery

1.
5000; 2; 600


2.
2500; 0.08; 0.25; 50



3.
4000; 280;
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 ( 
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280

t

;



4


4.
5000; 0.065;



325;
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325

 ( 
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325

t

;



2.5


5.
6000;



24,000;
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24,000

 ( 
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24,000

r

;


0.05;



5


6.
2000; 2.5;



5000
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 ( 
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5000

r

;


0.065;



6.5


7.
4500; 0.055; 2.5; 618.75;



618.75; 5118.75;



5118.75

Challenge

1.
0.06x

2.
a. x ( 500



b. 0.08(x ( 500)


3.
0.06x ( 0.08(x ( 500) ( 180


4.
a. 0.06x ( 0.08x ( 40 ( 180;



b. 0.14x ( 40 ( 180;



c. 0.14x ( 140;



d. 
[image: image13.wmf]0.14

0.14

x

 ( 
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0.14

   x ( 1000;


1000; 1500


5.
0.06(1000) ( 60; 0.08(1500) ( 120; 
60 ( 120 ( 180





















































Holt McDougal Mathematics


_1362502187.unknown

_1362502200.unknown

_1362502206.unknown

_1362502212.unknown

_1362502215.unknown

_1362502218.unknown

_1362502209.unknown

_1362502203.unknown

_1362502193.unknown

_1362502197.unknown

_1362502190.unknown

_1362502181.unknown

_1362502184.unknown

_1131420294.unknown

